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The main aim of Integrated Pest Management (IPM) is
(A) To destroy the harmful plants (B) To destroy the harmful insects

(C) To destroy the weeds (D) To destroy the chemicals

IPRZS (+fE fATEe (IPM) 21 -

(A) FoFa BeT@ A (B) oA (AT A (C) MR A A (D) IS I8 P
THIgpa dic yd-ud (IPM) &1 & I 8 —

(A) THIHRS AICEHH] A9 g (B) EHRE faxTgsdrs 99 T
(C) SiTel TTIESars A (D) IIH daEears A T
‘Silent valley’ lies in the state of
(A) Bihar (B) Kerala (C) Tamilnadu (D) Goa
H2CET0 BT (Silent valley) (AT “Ne3 IF —
(A) Ram (B) SIfSieTaIg (C) AR (D) cotrat
Silent valley % IJISIHT JaRIT B —
(A) faer (B) TS (C) B (D) T
Coral reefs in India can be seen in
(A) Himalayan region (B) Andaman and Nicobar Island
(C) Goa (D) Karnataka
SIROICE @b (@RI (el I —
(A) R wes (B) wwiie @ Resi@ @9t (C) et (D) Ff5
HARTAT TS G SISHAT T8SD —
(A) fedrem 8 (B) 3r=HM 3 e €10 998
(C) e (D) HACSH
The source of oxygen in the atmosphere is
(A) Carbon cycle (B) Green plants (C) Water (D) Nitrogen cycle
RN SIS B A —
(A) I oF (B) ¥ fegw (C) &= (D) WIS bk
JRIHAUSTHT SAfdTSTH DI S BT & —
(A) B1EF =H (B) eRar Sefigge  (C) 9 (D) ATEESHT dsh
Primary consumer is also called
(A) Herbivores (B) Carnivores (C) Omnivores (D) None of these
2N AT T (7 e Ao —
(A) TITSI&t (B) TR (C) &g (D) 9T7d @IS 7
UrRIfAe SRS 98 —
(A) TTHIERT (B) AIETERI (C) |dsrl (D) @1 ufsr BrsA
An example of tertiary consumer is
(A) frog (B) snake (C) plant (D) insect
PO #ICHA (OISR (Tertiary Consumer) BRIz FLa1l —
(A) T (B) 3o (C) Tfew (D) cottet
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